
Parts List Sheet:PHONE: 330.264.5678 or 800.228.1161 I FAX: 330.264.2944 or 800.531.7335 | www.akronbrass.com
WARRANTY AND DISCLAIMER*: We warrant Akron Brass products for a period of five (5) years* after purchase against defects in materials or workmanship. Akron Brass will repair or replace product which fails to satisfy this warranty. Repair or replacement
shall be at the discretion of Akron Brass. Products must be promptly returned to Akron Brass for warranty service. We will not be responsible for: wear and tear; any improper installation, use, maintenance or storage; negligence of the owner or user; repair or
modification after delivery; failure to follow our instructions or recommendations; or anything else beyond our control. WE MAKE NO WARRANTIES, EXPRESS OR IMPLIED, OTHER THAN THOSE INCLUDED IN THIS WARRANTY STATEMENT, AND WE
DISCLAIM ANY IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS FOR ANY PARTICULAR PURPOSE. Further, we will not be responsible for any consequential, incidental or indirect damages (including, but not limited to, any loss of profits) from
any cause whatsoever. No person has authority to change this warranty. *Unless otherwise provided herein. Akron Brass industrial electronic components & the Severe-Duty Monitor have a one (1) year warranty. Select Akron Brass handline nozzles and valves
carry a ten (10) year warranty. Scene Star Lights carry a (6) year warranty. Weldon products have a two (2) year warranty from date of manufacture (excluding consumable components). Select Weldon LED products carry a five (5) year warranty. Honda products
have the manufacturers’ warranty and Akron Brass disclaims any warranty in respect of those products.
 © 2016 Akron Brass Company. All rights reservered. No portion of this can be reproduced without the express written consent of the Akron Brass Company.

R

DateChg.
7-1604
10-1604

126407

D47869

TECHNICAL SERVICE PARTS
STYLE  
PRODUCT  PORTABLE SCENELIGHT

WIRE TERMINATIONS

FIND 53 FIND 44

RED RED
BLACK BLACK
WHITE NOT USED - CUT BACK TO OUTER JACKET -
GREEN NOT USED - CUT BACK TO OUTER JACKET -

NOTES:

USE PERMABOND LM113 OR LOCTITE 222.

 

INSTALL WITH KEYWAY ON SWITCH ORIENTED TOWARD LENS.

CLEAN BRAKE PARTS AND MATING BASE SURFACES WITH

ALCOHOL PRIOR TO ASSEMBLY.

 

TORQUE TO 150 IN-LBS.

32

33

35
36

37

38

42

45

46

47

48

49

50

51

52

54

55

56

57

58
60

61

59

72

2x
2x

2x

8x

4x

67

68

69

70

41

70

4X

71

63

48

53

62

31

39
44

43

40

65

2X

2X

4X
66

4X

64

TOGGLE
SWITCH

ELECTRICAL
CONTACTS

73

1

3

4

6

1

1

1

4

1

6

4
4

4

4

1

3



Parts List Sheet:PHONE: 330.264.5678 or 800.228.1161 I FAX: 330.264.2944 or 800.531.7335 | www.akronbrass.com
WARRANTY AND DISCLAIMER*: We warrant Akron Brass products for a period of five (5) years* after purchase against defects in materials or workmanship. Akron Brass will repair or replace product which fails to satisfy this warranty. Repair or replacement
shall be at the discretion of Akron Brass. Products must be promptly returned to Akron Brass for warranty service. We will not be responsible for: wear and tear; any improper installation, use, maintenance or storage; negligence of the owner or user; repair or
modification after delivery; failure to follow our instructions or recommendations; or anything else beyond our control. WE MAKE NO WARRANTIES, EXPRESS OR IMPLIED, OTHER THAN THOSE INCLUDED IN THIS WARRANTY STATEMENT, AND WE
DISCLAIM ANY IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS FOR ANY PARTICULAR PURPOSE. Further, we will not be responsible for any consequential, incidental or indirect damages (including, but not limited to, any loss of profits) from
any cause whatsoever. No person has authority to change this warranty. *Unless otherwise provided herein. Akron Brass industrial electronic components & the Severe-Duty Monitor have a one (1) year warranty. Select Akron Brass handline nozzles and valves
carry a ten (10) year warranty. Scene Star Lights carry a (6) year warranty. Weldon products have a two (2) year warranty from date of manufacture (excluding consumable components). Select Weldon LED products carry a five (5) year warranty. Honda products
have the manufacturers’ warranty and Akron Brass disclaims any warranty in respect of those products.
 © 2016 Akron Brass Company. All rights reservered. No portion of this can be reproduced without the express written consent of the Akron Brass Company.

R

DateChg.
7-1604
10-1604

126407

D47869

TECHNICAL SERVICE PARTS
STYLE  
PRODUCT  PORTABLE SCENELIGHT

Find Description Part # Qty

31 BODY 856-BRS 1
32 HANDLE CARRYING 2PH-RS 1
33 BASE 100-BWRS 1
34 * CHARGER BATTERY, 120V* 120-RSBC as req'd
34 * CHARGER BATTERY, 240V* 240-RSBC as req'd
34 * CHARGER BATTERY, 12-24V* 1224-RSBC as req'd
35 BASE SPRING 100-RSP 1
36 SCREW SOCKET HEAD SHOULDER SCREW 1/2" x 3/4" 375-SHL 1
37 UHMW BEARING 500-TB 2
38 SCREW SOCKET HEAD CAP M8 x 75mm 875-SHCS 4
39 BATTERY CONTACT GASKET 187-GRS 1
40 *** SCREW SOCKET HEAD CAP M2.5  x 10mm 2510-SHCS 4
41 SCREW SOCKET BUTTON HEAD CAP M6 x 8mm 608-BSHC 4
42 BATTERY PACK (5.0Ah, 126Wh) 50AH-RSB 1
43 *** BRACKET BATTERY BHB-RS 1
44 CONTACTS ELECTRICAL BCE-RS 1
45 SCREW SOCKET HEAD SHOULDER CAP 1/2" x 1-1/4" 500-SHL 1
46 ** SCENELIGHT S/A - DC SINGLE ** - 1
47 STRAP STABALIZING 147-SS 1
48 SCREW SOCKET FLAT HEAD M5 x 16mm 516-FHSC 4
49 RETAINER HUB 161-HR 1
50 FOOT 660-FRS 1
51 HUB 213-HRS 1
52 SPIKE 500-SPL 1
53 CABLE MOLDED W/SWITCH AND HOLDER 300DC-WS-RS 1
54 PLATE HEAT SINK COVER 756-CPRS 1
55 HUB SPRING 600-RSP 1
56 COVER FOOT BOTTOM 106-BFC 1
57 SCREW FLAT HEAD SOCKET M4 x 10mm 410-FHSC 8
58 WASHER FLAT 1/4" 250-RFW 2
59 WASHER THRUST 938-FBW 1
60 WASHER LOCK 1/4" 250-RLW 2
61 SCREW SOCKET HEAD CAP M6 x 22mm 622-SHCS 2
62 14GA BUTT CONNECTORS, HEAT SHRINK TYPE BSB-1125 2
63 O-RING 2-023 023-BOR 1
64 SHRINK TUBE 500-HS 1
65 SWITCH BOOT 345-SB 1
66 *** WASHER M25-GPW 4
67 Caution Hot Label - 1
68 Revel Label WT-REVEL 1
69 Scout Label WT-SCOUT 1
70 mfg label - 2

Find Description Part # Qty

71 FRICTION PAD 100-FP 2
72 SHIM ST. STL. .010 THICK 010-SHIM 1
73 SHRINK TUBE DWP-125-3/8-0-STK 2
74 BATTERY BRACKET REPLACEMENT KIT SCOUT-BRKT-REPLACE 1

  * CHARGERS ARE NOT SHOWN AND LISTED FOR REFERENCE ONLY.
  
 ** SEE TECHNICAL PARTS LIST C48269.
 
*** INCLUDED IN BATTERY BRACKET REPLACEMENT KIT #74


	Sheet 4
	Views
	new_view_19
	new_view_21
	new_view_22

	Zones
	A1


	Sheet 5
	Zones
	A1



